ERERHZ AR (D)

B4 XEEH | B B4 XEEH | B

(B #) RROEEH) —  /A\X5 353 27
RRCPHE) — #HFR 894 16 || RRCHE) — = 570 28
RRCHA) — PN 514 16 | WRCHHE) — ZIROMY) 528 28
RECHHE) — 3] 678 16 || RRCHE) — e 530 28
RECHHE) — 2 1,041 17 || ERCHEE) — H &R 440(282) | 29
RECHHE) — H#EERH) 1,687 17 | RRCHA) — ®iaE 634 29
RR(FEHE) — #HFR 892 17 || ERCHEE) — HE 695 29
RE(BHE) — PN 589 18 || RRCHE) — B 667 30
RE(BHE) — 3] 752 18 || RECHE) — XFER 776 30
RE(HE) — 2 1,107 18 || BRCHE) — HE 801 30
RR(RE) — i REH) 1,887 19 || ERCHEE) — aR 907 31
PN - HT=® 1,161 19 || ERCHE) — e 685 31
KB - 2 578 19 || ERCHE) — /N 790 31
KB — HREGRH) 1,304 20 | WREPH) -— aE 741 32
3] - T 1,309 20 | WECEPH) — WWAFH 935 32
E3Fi - 2 553 20 | WREPH) -— s 703 32
i) — HREGRH) 1,261 21 | ®WREPIH) -— ST 711 33
e - HTR 1614 21 | ®WREPIH) -— LA 859 33
e — HREGRHE) 1,008 21 | ®WREPH) -— ESF ! 824 33
B m - RO 2,418 22 | ®mEEAR) —  dEAm 958 34
RERCPHE) — &8 1,130 34

(A—HILER) RERCPHE) — Rig 1,143 34
RECHHE) — MR 1,195 23 | WREPH) -— REAX 1,086 35
RR(CPH) — Eil 1 1,032 23 | WREPH) -— o 928 35
RECHHE) — ENEE 786 23 | WRCPH) - = 1,023 35
RRER(CPHE) — B 1,052 24 | WREROPH) — ERS 1,111 36
RECHHE) — WA 999 24 | WREROEPIH) — #&EBEXES 1,436 36
RR(CPHE) —  $igE 1,118 24 | RR(PH) — AXE 1,888 36
RRCHA) — Xkl 1,156 25 (| BROPA) — ETs 2,020 37
RECHHE) — B 1,233 25 | WERCPH) — TS 2,030 37
RRER(CPH) — & 690 25 | WREPH) -— fiE 2,171 37
RR(CPH) — =R 685 26 || Wm(EH) — Fil 23 850 38
RR(CPH) — T 555 26 || Wm(EH) — B 1,050 38
RR(CPH) — KEE 628 26 || WRm(RH) — Xkl 931 38
RECHHE) — L 441 27 || Wm(RHE) — H &R 500 39
RR(CPHE) — EX 489 27 || Wm(RHE) — /N 898 39

(DRMEEEFED ( )ETORBEIT. FHR2BFEIAETTOERTHD,




ERERHZ AR (£D2)

B4 RHEEM | B B4 RMHEEM | B
RE(BHE) — = 711 39 PN - EBAS 707(663) | 52
RR(HE) — AT 832 40 PN - BXKE 989 52
RE(BHE) — ST 745 40 PN - #z5 1,075 52
RE(BHE) — R 1,101 40 PN - Ens 1,559 53
RE(BHE) — &8 1,148 4 PN - AiE 1,709 53
RE(BHE) — REX 1,053 4 i) - Fil 23 1,490 53
RR(HE) — x5 924 41 3] - ikl 1,589 54
RE(BHE) — = 931 42 3] - {TF=s 910 54
RR(FHE) — RBREE 1,204 42 3] - wis 739 54
RR(FEHE) — B‘BXKS 1,542 42 3] - g 648 55
RRE(FKHE) —  TH#E 2,020 43 3] - = 525 55
RE(BHE) — AaiE 2,006 43 3] - ERB 612 55

KB - il 12 1,336 43 3] - BXKE 946 56
NI - B 1,049 44 3k - EnU5 1,530 56
KBx - HEJI| 1,320 44 =L - AiE 1,650 56
PN - Al 1,445 44 B — 3o 357 57
KB - & 946 45 BFm - Fil 23 276 57
PN — =R 985 45 B — [E3):c 217(160) 57
KBx - 5 870 45 HEm - AR 368 58
KB - e 803 46 HFm - HEER 374 58
PN - | 793 46 T - K& 354 58
KB - L 730 46 wFm - GEo 307 59
KBx - 25 662 47 HE® - 5 467 59
PN - i 611 47 B — | 443 59
PN - 7NN 385 47 BFE - iz 620 60
PN - BE 175 48 T - ZWEB) 807(742) 60
KB - =157 366 48 BFm - WA 889 60
PN - £ 362 48 B — HE 1,295 61
KB - AR 477 49 BFm - s 1,366 61
PN - AT 378 49 | HIR(EER) — FIR 238 61
KB - =0 300 49 [ ALWR(EER) — Fil 23 282 62
PN - R 673 50 || AL#E(EHR) — AR 257 62
KB - BER 621 50 || FLUR(EX) — @ PiEE 385 62
PN - N 462 50 [ #LER(EER) — =ikl 333 63
KB - B 568 51 || #L#E(E¥) — B 197 63
PN - ERE 655 51 || #L#E(E¥) — =iR 389 63
PN - B¥E 692 51 || #LIR(EZK) — T 401 64
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ERE M Z A RS] (£D3I)

B4 RHEEM | B B4 RMHEEM | B

B - BR 176 64 HER - Fil 23 1,280 76
= - TR 664 64 R - AR 960 77
= — HE 674 65 AR - B 1,222 77
s — N 1,002 65 HER - LN 1,147 77
= — HREGRH) 2,010 65 AR - xiEhl 1,368 78
25 - TR 720 66 HEB - ¥FT= 1,084 78
XE - Bk 104 66 HER - {TF=s 657 78
XE - S 30 66 HRER - e 721 79
=5 - XS 80 67 AR - iR 585 79
==K - #HES 21 67 AR - HE 361 79
N - &7 74 67 HRER - LA 544 80
ANXE - #HES 85 68 HER - =0 454 80
ki - Z==EB 189 68 g - 2 744 80
HEEi -  EE 172 68 HER - RIg 830 81
e — Bk 147 69 HRER - REK 750 81
iR - HTR 755 69 &R - R 612 81
hia — LR (EER) 694 69 R - = 692 82
iR — HREGRH) 1,935 70 HER - ERB 806 82
= - HTR 875 70 HRER — HEGRE) 1,470 82
FROMY — FF® 959 70 R - EEE 1,628 83
WA — FLIR(EZR) 893 71 HER - AiE 1,865 83
B - HTR 1,137(937) | T HE S 1,251 83
B — LR (EER) 1,161 71 HE - GEo 984 84
B - HE 487 72 ME - P 861 84
B - 2 876(724) | 72 mE - {TF=s 881 84
B - BER 713 72 HE — ZE(EER) 750(501) | 85
B - ERS 77 73 ME - iR 695 85
B — REB(BE) | 1,558(1,388) | 73 HE - WA 445 85
ZEEUMLD — IR (EER) 1,057 73 HE - = E0 267 86
BAEEUMR) — E: 785 74 HE - g 650 86
AEEVMR) — 5 704 74 HE - ERB 632 86
£2TEE UMD — 1157 582 74 Ei — HEGRH) 1,308 87
EEEOMOD — in 495 75 wE - T5 1,548 87
Z2TEEUMOD — £ 445 75 HE - (=153 143 87
H2EE UMD — = 511 75 & LI - FT= 1,266 88
AEEUMR) — 2 750 76 NS - FT= 1,361 88
H2EE UMD — 12N 795 76 /N — HEGRH) 1,143 88

(DRMEEEFED ( )ETORIBEIT. FHR2BFEIAETTOERTHD,




ERERHZRERA RS (£D4)

B4 XEEH | B B4 XEEH | B
(ST — HREGRH) 1,194 89 BEXXE - ERS 81 100
e - %5 1,323 89 BXKRE - 2B 181 101
e - s 1,256 89 BEXXE -— 5im 256 101
e - ZW(EE) 1,146 90 BEXE - HEGH) 390 101
e - wis 1,156 90 BMARE — ILXES 62 102
e — IR OMR) 802 90 ey — hKRE 112 102
e - VAV 906 91 || HEAH -— ZWEER 1,742 102
e - HE 415 o1 || HERGRE) - EIROMR) 1,577 103
e - S 514 o1 || EE(GARER) — i Ll 1,252 103
e - AT 319 92 | EEGERER) — aE 978 103
e - =0 419 92 | EEGERER) — LA 1,072 104
e - =L 260 92 || HEEE) — HKRE 287 104
e - x5 190 93 || HEGH) — 5im 231 104
e - = 307 93 || HEIMEB) — LXRE 417 105
e - EBAE 408 93 || HEMEHE) — BEARE 414 105
e - BXKE 672(577) | 94 | HHEBEH) — AXE 168, 169 (3%)| 105
e - T 1,240 94 || HEEAEH) — EES 352 106
e - aiE 1,370 94 || HEERGAEH) — TS 366 106
g - =157 126 95 [ HEEGREH) — fiE 472 106
R - BT 149(202) | 95 (| HEE(BH) —  SHRE 597 107
g — pug-) 217 95 =55 - aiE 183 107
RER — HREGRH) 890 96 ZRME - EOS 86 107
XE - 2 221 96 AaiE -  5EBE 168, 175(3%)| 108
xE - 12N 119 96
=I5 — HEERH) 859 97
BRE - L 377 97
BRES - 2 274 97
BRE — BFE 181 98
BRE — EA5 194 98
BRE — #BXKE 467 98
BRE — ERS 467 99
BRE — fiZE 560 99
BRE — HKkBE 579 99
BRE - 5 627 100
BRE - HEGH 758 100
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